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( BARELY ANY. )

WHAT ARE EXERCISING!

YOU DOING?

BUT IT DOES
BURN SOME
CALORIES, RIGHT?

DOES CHEWING I SUPPOSE.

BURN CALORIES?
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Why the pig number 3 ask the pig number 1 about losing the
calories ¢

He is interested in exercising.

His friend requested him to chew some cookies.

He would like to burn his calories by chewing something.

To make sure that he can eat something while he's still losing
weight.
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\8Y/MNFABU AIRBUT : 4. To make sure that he can eat something while he’s still losing

weight.
NIEUIUNITON: NFYTUINTUALFAAIY
anun1sal: Bes/wmmnsainegluruaulavestFeu
WESTINN: dlodoaden
sUsuvresiiaFos: wuuliseiiles
Ussinmuaaiiioidos: NSUTIEY
dnulaaau: wuuidennay
ATAEARRDINIT I: ug. 9 1.1 3.1/3 : don/szyusgloanas doanu Widuiusiuded

TaflgAuiSea (non-text information) N181u
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Directions: Place a T on the line if you think a statement is TRUE.
Place an F on the line if you think the statement is FALSE.

It can be inferred that the pig number 3...

1. likes exercising.

2. would like to eat some snacks.

LRAY/LUIAINBU ARBUT 1. False 2. True
NSEUIUNITOU: NYININISHAEAAIIY

anunsel: Sevimnsaifegluanuaula vesdeny
WARINN: HDLB9LAE

sUsuuvBallelIe: wuuldsiaiilos

USeLNNUDLUBLTD: A1SUTTENE

ANWULVDEDU: WUULADNABULTNY DU
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ANNADAARBINIYIA: A 1.1 1.1/4 symivelses (topic) lapudfsy (main idea) Wagnou

ANDNNANNNITHILALDTUUNAUNUT TN waLlSadU
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What food did the pig number 3 eat?

maeu Chips, Donuts, Cookies.

RAY/LUIAINBY ANRBUT He wasn’t sure about the answer. / No, he didn’t
ASLUIUNTTDIU: miuuiimmil,l,azamm
anunisal; USUNNTEIULNBYARAR
A A A a
LARINUN: LUBLIDILALN

sUkuuveuilaise: wuuldsiaiilos
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UenNUn oL od: ANSUTTYY
ANWULVDADU: WAUAINBU

ANNADAARBIIYIA: 1g. 1.1 1.1/3 : Hen/svylsvluauiay Tomnnu Tiduiusiuaeilly

AULSE9 (non-text information) N1971u
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maw Did the pig number 1 agree with the pig number 3 to
eat something and why?

ANMBYU He wasn’t sure about the answer because he said with his hesitation on his face.

LRAY/LUIANNBU ANMBUN : He wasn’t sure about the answer because he said with his

hesitation on his face. In additional, he also said chewing only supposed to burn some

calories.

NTEUIUNITO U NFYTINITUAZAAIY
anunIsal: Uunmseuileyana
WETisN: dedeudien
sUsuvrailaFos: wuulaiseiiles
Ussavveaifoides: N1UTTYE

ANYUL VoD FNANOUNDULTITDU

ANUABAAGDIITIA: 7 1.1 1.1/4 S3yiiTeLses (topic) lannudidsy (main idea) WagmnauAiny

INANSHILALDIUUNAUNU WU LhAaTLID 98U

ANDNNN 5 LUURNAINBULUUDESE (a819ia8 1 A1AN)

mow If you were the pig number 2, what did you say?

Wae/wrney Anaufl | would like to stop the pig number 3 having some snacks and

invited him to do the exercise instead.

NITUIUNITOU: msgsmmmazﬁmm

anunIsol: UIunmsenuLiieyana
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WESTIaN: Hodouden
sUsuvresileFos: wuulaiseiiles
UssiamvaadiaFos: N15UTTEY
anvzUaaRU: EHRlLLY
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ANUADAATRIRITIA: 1g ¢ 1.3 1.1/3 : Wa/eunanrnudaiiunediuianssuvzesewinge Ind

71 wiouns Iivianadus Usenau



